Prisoner’s Dilemma Game 

A model of Cooperation and Individualism 

  

Questions to follow the activity. A score card will be provided.
Analysis: (answer the following on your own sheet of paper) 

��.1 Who had the highest score? 

  

��.2 What was the strategy of the player who had the highest score? 

  

��.3 Why is it tempting to defect or cheat your partner out of points? 

  

��.4 In the long run, what strategy do you think would be the most beneficial? 

  

��.5 Why do you think your answer to #4 is the most beneficial way to play the game? 

  

��.6 Do you think it would help to work with your opponent and talk about what would be most beneficial for you both? 

  

��.7 Why did you answer yes/no to #6?  

  

��.8 Copy down the data on the board as a the class completes the game.  As you wait for more data play more games! 

  

��.9 Put these data onto a number line (see board) 

  

��.10 What inference can you make regarding the people that fell between 0-100 points? WHY? 

  

��.11 What inference can you make regarding the people that fell between 101-200 points? WHY? 

  

��.12 What inference can you make regarding the people that fell between 201-300 points? WHY? 

  

��.13 What level of cooperation did MOST people fall into regarding this game? WHY? 

  

��.14 In the long run what category do you think most people would fall into if we continued to play this game?  WHY? 

  

��.15 Knowing what you know about single-celled organisms and multicellular organisms, what do you think the evolution of these organisms would look like? 

  

  

  

IF TIME PERMITS PLEASE PLAY THE GAME ANOTHER ROUND OR TWO!  BEST 2 OUT OF 3 SERIES!!!!  


